Unit 3 (Modules 16-21): National Income and Price Determination Review

Format:


40 multiple choice questions and two (2) Free Response Questions

Aggregate Supply (AS)


∙ Factors that shift the SRAS & LRAS curves (e.g. nominal wages, expectations, etc.)


∙ Know the shapes of the SRAS and LRAS curves


∙ Nominal wages and sticky wages
Aggregate Demand (AD)


∙ Factors that shift the AD curve (e.g. consumer tastes, income, etc.)


∙ Know the shape of the AD curve


∙ Wealth effect and interest rate effect

∙ Iplanned + Iunplanned = Inet
Aggregate Demand (AD) / Aggregate Supply (AS) Model


∙ Factors that shift the AD and AS curves (e.g. expectations)0

∙ Know the shapes of the AD, SRAS, and LRAS curves


∙ Output at LRAS is equal to potential GDP


∙ At AD = LRAS, RGDP = PGDP and there is full employment( Long run equilibrium


∙ At AD = SRAS, it is not a given that RGDP is at full employment( Short run equilibrium


∙ Inflationary v. recessionary gaps


∙ Demand shocks and Supply shocks

Consumption Function and Consumption Expenditure Model


∙ 45o line, where CE = DI

∙ Consumption Expenditure (CE) v. Disposable Income (DI)


∙ Autonomous consumption


∙ Slope of consumption function = MPC = ∆CE / ∆YD
Aggregate Expenditure (AE) Model and the Keynesian Cross


∙ 45o line, where APE = RGDP


∙ Aggregate Planned Expenditure (APE) v. real domestic product (RGDP)


∙ APE = Consumption Expenditures + Planned Investment


∙ Assumes no government expenditures & no net exports


∙ Slope of AE curve = MPC


∙ Autonomous aggregate expenditure


∙ Change in AE leads to a multiplied change in output, which can be linked to the AS-AD Model


° Change in output = Multiplier * Change in APE


° Magnitude of shift in AD curve tied to the Multiplier

Government Policies and Aggregate Demand


∙ Fiscal policies: raise/lower taxes and/or raise/lower government expenditures


∙ Monetary policies: expand and/or contract the money supply


∙ Expansionary v. contractionary monetary policies

∙ Stabilization policies (i.e. low unemployment and low inflation)

∙ Automatic stabilizers


∙ Shortcomings of fiscal policy and monetary policy
Gross Domestic Product (GDP, or Y)


∙ Definition of GDP and types of GDP (real v. nominal)


∙ GDP = C + G + I + NX (expenditure)
Historical events that are analyzed using macroeconomics


∙ Great Depression, 1929-1941


∙ Stagflation of the 1970s

The Multiplier


∙ MPC = 1 – MPS; MPC = marginal propensity to consume; MPS = marginal propensity to save

∙ Spending/Expenditure Multiplier = 1 / (1-MPC)

∙ John Maynard Keynes and The General Theory of Employment. . . . (1936)
                             AS-AD Model

                                 Aggregate Expenditure Model (Keynesian Cross)
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Consumption Function Model 
[image: image2.png]c
Consumer Spending

45 degree line (Y=C)

C1=a+b(Y)

utonomous consumption
siope) = (MPC) =AC/ A Y

Real

isposable income

o economicsbalp o



           

